Mathematics
Arithmetic: Test 4b

Year 5

[ Name

[ Date

16

total marks
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Key Stage 2: Year 5: arithmetic test 4b

1 532 + 300 =

3 | 5628 + 4744 =
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4 | 45+1=

5 | 572x8=
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7 86 724 - 4773 =

8 | 60000 + 300 =

9 810 + 9 =
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10 | 5.9 x 1000 =

q 1 _
M| 55-5°
12 | 5 x5=
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13 | 5338 x55 =

14 | 408 + 8 =

@
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Answer Sheet: Key Stage 2: Year 5: arithmetic test 4b @

Guidance: Children will have 15 minutes for this test.

question answer marks
1 832 1
2 - 1
3 10 372 1
4 45 1
5 4576 1
6 19 1
7 81951 1
8 60 300 1
9 90 1
10 5900 1
l = 1
12 43 1
13 293 590 2
14 51 2

Total 16
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